Puzzle 10685 - Sunday, 12 April, 2015 - Difficulty 10

247"'1 127"} 25 1T [ ! 7'""'; 4 ‘ 22 |
781351491362
R A S R i
21413 |87 16fF1:19]5:
i — 797,::: gjiii: 37;17::7 ffffff,,::fff,‘ 17%’”:, ,,,,,,,,,,,,,
6 | 9153 2184 |7
o ,,,,,,,‘ i ; i i 3611137: : g,f::ffff:,
5|6 83|27 [9)1]4
A T SRRt PR A R R A
11219916 |4|8fF57]3:
ééf:: ::::::,:’ ’1’5”,111 | | ’71’::,,::::: ;3 ””” | %
4|3 7[9|1|5]|28i6
i : : ff:ffff"l"iif‘ ’71’::,::::::,: | § ; :
9|76 |2]8)3[4]5)1
171 14 """“‘; “18" 23 ‘ 12
8|5 2|16 [4}7 3|9
3| 1]4]|]75]9|6 ]2 8

Copyright (c) www.dailykillersudoku.com




